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Koy | ikslE | MR | ERE | R0 X7 HOESAG | MR | ok | R0

2 | B (HHE) | B | B(FE) g | #(EE) | BR% | B(FE)

BE 1,364,455 756,325 1,378,130  779,225| H { T HT 6,651 1,840 6,763 1,861

e 1,279,035 713,362 1,291,966  734,953| yi] ¥ HT 3,232 931 3,293 1,013

5 85,420 42,963 86,164 44,272| O T 3,997 1,577 3,966 1,582

FA IR T 3,080 1,266 3,100 1,300

i R T 267,672 151,385 269,739  154,269| 7§ G T HT 4,082 1,767 4,024 1,774
%X 96,997 55,094 97,838 56,111

B X 81,909 45,709 82,600 46,643 & AT 13,036 7,248 13,263 7,437

TEKX 88,766 50,582 89,301 51,515 & 7k HT 10,757 5,392 10,879 5,626

£ RO 14,763 8,601 14,989 9,003

e /N ] 293,512 167,302 295,118  171,888| /N LI HT 7,012 3,494 7,161 3,773

HoOX 95,926 54,825 96,293 56,172 & H W 9,890 5,772 9,846 5,762
R OX 46,089 25,484 46,321 26,175

moX 38,790 22,694 39,101 23,339 JI & A< HT 2,885 1,635 2,858 1,626

Mo 34,949 19,488 35,154 20,187| #& i3} 6,035 3,440 6,022 3,515
I X 33,314 18,846 33,598 19,341
EALX 32,976 19,393 33,334 20,066
KX 11,468 6,572 11,317 6,608
wHoE 74,013 40,593 74,869 42,039
Boyg oh 20,936 8,859 21,099 9,273
= i 40,042 24,413 40,590 24,989
e 45,713 24,665 46,308 25,560
(Fi ] 31,932 10,175 32,219 11,115
B OH 34,304 21,699 34,574 22,122
CR==il 88,052 49,102 89,523 50,915
2 W 57,169 33,306 57,893 34,829
B HE o 48,943 28,773 49,417 29,285
£5: 0 11 s ] 40,809 24,219 41,710 25,185
i A T 50,675 30,545 51,141 31,412
100 p 55 31,534 18,026 32,227 18,987
R il 28,399 15,022 28,886 16,122
T W W 10,954 3,547 11,081 3,707
B o 18,435 10,462 18,697 10,845
¥ i ] 21,478 11,791 21,587 12,002
e W 14,031 6,556 14,127 6,726
HE T MR 11,855 5,742 11,913 5,865
% N T 15,229 8,823 15,379 9,115
FHOET 18,275 9,603 18,685 9,824
Moz i 15,073 8,754 15,184 8,879
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